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(§x+4) +da =bx®* +cex+19 Q@ W, A< a, b, ¢ ANA (a+ b)c

of ghe?

D -19 @)
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2.

(2x—a)?=4x*+12x+b 2 W, a+b 9 &

D -12 ® -6 3 6



3. x—
(x=1)(x+1)(x* +1)= A7NstA?

D x-
x-1 @ x*-1 B xt
x* -1

@ x2+
1
® x¥*+1



o|J
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ol

ol
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¥ +Ax+B LM, A5 A B

(x=4)(x-6)

4.

® =10 B 4 @ 10 B 14

D =24



5. 2(x-3)%4 (x+2)(3x+ 1) 73] 5}H?

D 2 -5x+20 @ 5x%+5x+20 @ 5x2 —5x—20

@ 5x2 +5x-20 ® 5x2 =5x+20



6. (x-y+2)(x-y-3)=A7sk=dl 7P AEg A2

D {(x=y)+2H{(x—y) -3} @ {x-(+5)Hx-(y-3))
® {(x+2) - yH(x-3)—y @ {x-(+2)H(x-y) -3}
@ {(x-y)+2}{x-(y-3)}



7. (- D=2+ 2)(x+3)E AAT 0, 29 ASE Tote?

@D 3 ® 5 B 7 @ =5 B -7



8.

203% = Axtst=d o= S 7F8 "efe A &

® (a+b)(a-b)=a®- b

@ (a+b)? =a®+ 2ab + b?

® m(a+ b) = ma+ mb

@ (ax+ b)(cx+d) = acx® + (ad + bc)x + bd

® (a+b)(c+d) = ac+ bc+ ad + bd



9. x+y=4, xy=-2L 0 > +y* ] g2?

@D 5 @ 10 ® 15 @ 20 B 25



10. (x+2)% - (x=1)(x+2) & W5t 7heks] bR

@ 2x24+4x+6 @ 2x% —4x @ x2-7Tx+2

@ 3x+6 ® 3x-6



11.
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13.

o 57_
(x+3)>=6(x+3)-16, x2+3x—10 9] Z

S ER
=¥



(x=3)2+6(x—3) +82] x2] Al47}F 1<l

14.

@ x+2 @ 3x+2

® x+3
@ 2x

3B 2x+3



(x+4)2-2(x+4)-159] x&] A7+ 1 <

15.
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=

=
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L

@ 2x-6 ® 2x+8

B 6

D 2x+6

@ 2 +6



16.

@ x-2

® x2+4x+3



17. & F (x+5)2 - 2(x+5) — 15 9] 215¢l AL9

D x+8 ® x-=5 B x-1 @ x-17 B x+4



@ —-2n B m4+n @ 2n 3B 2m

@D 0



-4p+qp+p* =

@ (p+29)°
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20.

8-Ta(a-2)+a*(a-2)>=(a+A)(a+B)(a+C)(a+D) 2L
S, A+B+ C+D E stofeh
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=¥






22. (x+y)(x+y+6)+9 5 S o]-&sto] AgEfstH?

@ (x+y+3)? @ (x+y-3)?
® (x-y-3)2 @ (x+y+3)(x+y-3)

® (x+y+3)(x—-y-3)



23.

(2a-3b+1)?-(2a+3b-1)> =8a(Aa+Bb+C) L T, A+B-C
= oozt

RJe:a+B-C=



24. A< a, b, c ol W5kl (5x + a)(bx + 6) = 1022 + cx - 54 L o,
a+b+c 9 32 otofet.

s
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25.

& Q5o B8-S tebd Aolck, [ ] ol Sol2 w2
A e AL

@ 2x3 —8x% — 10x = 2x(x® —4x - 5)

=2x(x-5)(__)
© (x+y)2+3(x+y) +2°4[ |8 A = 28t}

DO x-1,x-y @ x-1,x+y ® x+1,x-y

@ x+1,x+y ® x, x+vy



26.

(x-2)x>-3(x-2)x-10(x-2) & AFEl5tH?
@ (x-2)(x=5)(x+2) @ (x-2)(x+5)(x+2)
® (x=2)(x-5)(x+3) @D (x-2)(x+5)(x-2)
® (x-2)(x+5)(x=13)



27.

(a_b+3)2_(a+b+3)2’%2l'%6]

o
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@ -4b(a-3) @ —da(b+3)

Q® -8b(a+3)
® -4b(a+ 3)
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